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vil- Find area of the given figure: Acm

viil- Construct triangle ABC in which
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mAB=3.2cm, mBC = 4.2 cm, mCA =52¢cm mIE:B.Icm. mE=4.2cm. mCA =52cm

ix- Define circumcentre of a triangle.
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5- (a) Solve the given equations by matrix inversion method.
2x+y=3
Bx+5y=1
(B) Use laws of exponents to simplify:
B1"x (3)° —(3)*" ' (243)
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6- (a) Use log table to find the value of
0678 x 9.01
0.0234
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the value of ab + bec+ ca
(a) Factorize: (x®+ 5x + 4)(x® + 5x + 6) -3

(b) Use division methed to find the square roct of the
expression: Bt - x4+ Tx? - 2x + 1

(8) Find the solution set of the equation:
2 | 1
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L | 2 6

(b} Construct the following triangle ABC. Draw the bisectors
of thair angles:

mAB = 4.2 cm, mBC =6 cmand mCA = 5.2em
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9- Prove that any point on the bisector of a line segment is
equidistant from its end points.

OR

Prove that parallelograms on the same base
and between the same parallel lines are equal in area,
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paints.
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4 (D) 3 (c)
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14-{1}-118-97000

_J_rl'

Eoscalas ..;.l‘-:.-'-'.jsl..? (B
ascute angled .k (D

4;,:;".— 4"'2-""13 :

Al it i Da ik 92
over laping A (&)
concurrent & [C)

e e fime e fis__ 13
2 (B) 1 (A}

¥l el hi Sdaed Py 14
_etw K P &S
volume ~ (B) perimater b [A)

&t o F o U UF Lt 0 18

|
i right angled -JA=fF (A)
equilsteral L [C)



Mathematics (Science Group]  Paper: | (W o T o) 118 I (o
Time: 2:10 Hours Group: 11 ‘rj.-"'" =
Marks: 50 Subjective |l
it (@) PN e K i () e £ e e B
Section I LJilis
2= Wirite short answers to any SIX questions: (2xE6=12)

FHCa[1 =1 I thenfind C+[-2 1 3

-F A=

-1 2 5

i~ Define compiax number

e i X+ i¥+ 1 =4-3 thenfind the value of x and y

v- Defing antsogarifm.

wi- Fing the comman logarthen of 000032,
Wi Define aigabrac expressions.

Vil g+ b=5 and u.—!::#ﬁ.ﬂ'iuﬂﬂ-l'll ab.
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- 3x? s dx— 14 I8 divided by x +2
3= Write short answers to any SIX questions:
R FndLCM 36"y, 01x557
B Sohve {2r+ 3 =x 2 equaticn and chack far
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5
0 Find solulion set of IF f
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r- Define arigin

v Find values of m and ¢ afler expressng ine in the

form FemX+E  JIx+dy-1=0

wi- Find the distance babween the pair of pairts
Al2, -6), B3, -8

wi- Find the rud-pont of the line segment mining pair
of pointe A(D 2), BT 2}

wil- Define 5 A 5 poatulate

- Orne angle of a parallelogram is 1307 find measures
of &3 rermairmg anghes.

4 Write short answers 1o any SIX questions: {2

+ Define bisector of an angle.

¥4 om. 3 cm and 5 cm ane nat lengths of the idangle.
Gare the moasan

B I triangle LMN, SN || PO #f miM =
mLP=25cm and mLQ=23cm | then
fnd mLN
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e
and B=| _| then find AB (i possibie)
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v- Stale pylhagoras thegorem,
vi- Verifythat a=1.5cm, b=2cm, ¢=25cm

are lengths of righl angled triangle,

Wil Find airaa.

i=]5cm,

(2)

Bl Ly

b=2cm, ¢=25cm JEJS v
o W St ey
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viil- Dafina the incenire of the trangle,
ix= Construct a triangle XYZ in which

mYZ =7.6cm, mk?:ﬁ.lcm,mgx.m“

{a) Solve by using matrix inversion method:
2x+y =3
Bx+5Sy=1
W G
(216)% x (25)°
et
(.04) 2
(@) Find the value by using logarithm:
0.8176x132.84
(b} W m+n+p=10 and mn +np +mp = 27
find the value of m® +n? + p?,

{b) Simplify;

= (m) Factorize the cuble polynomiad by factor theorem:

T

(b) Use dhislon method to find the squares root of
the expression;  x = 10x% + 37x% - B0x + 36

| 2
(8) Solve the equation; x¥s "2[1'-- ,:]*ﬁ!

(b} Construct the triangle PQR and draw their altitudes:
mPQ=6em, mOR =45¢cm, mPR =55em
The right bisectors of the sides of a thangle are concurrent.

OR

Trianglas on the same base and of the same (Le. equal)

altitudes are equal in area,
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